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® m(a+b+c) @ m(a-b-c) @m(a—b—i—c)

@ ma(1-b+c) ® m(a+b-c)

ma—mb+mc=m(a—b+c)
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(£4]) = 3-5)3+5 + (7T-9((7+9 +
(11-13) (11 +13) = —2(8 + 16 + 24) = -96
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a-b=1,a>-p*=4<L " a+b2 FE?

D1 @ 2 ® 3 @4

a’>-b>=(a+b)la-b)=(a+b)x1=4
La+b=4




a*-b>-2b-1=a*- (> +2b+1)
=a?—(b+1)?
=(a+b+1)(a-b-1)
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(@a+b+1)+ (a-b-1) = 2a °Jt}.




5. a®+2ab+ b’ —a-bE Q5EaIH?

® (a+b)a+b+1) @ (a-b)la+b-1)
® (a-b)a-b-2) @@+ n)a+b-1)
® (a+b)(a+b-2)

‘ (a+b)?-(a+b)=(a+b)at+b-1)
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@ 2x3 —8x% — 10x = 2x(x® —4x - 5)

=2x(x-5)(__)

O (x+y)2+3@x+y) +2°A[ |2 A & x@%t

DO x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x3 - 8x% — 10x = 2x(x? — 4x - 5)
=2x(x-5)(x+1)
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x=3,y= V3-1
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1(V3+1)

ah (V3-1)(V3+1) =0




2a - b)® - (2a + b)?
=(2a-b+2a+b)(2a—b—2a-b)
= da x (—2b)

= —8ab
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O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ x+1)-4(x+1)=(x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)




10. Thee x - 81yt & Q4R @ Zolet. of uf, [ bl e A
A5 G FoHE?

Aoyt =2+ P+ - W

D 13 @15 ® 18 @ 20 ® 24

xt = 8Lyt = (x* +9?)(x* - 9%)
= (2% + 9y*)(x + 3y) (x - 3y)
~9+3+3=15




+ V8, y=3- V8L U, (& +y)2 - (x"—y")? ] 2,

@1 @ 2 ® 3 @)4 ® 5

(" +y")? = (2" = y")?

= (Y =P+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3- V8) =1

SA(xy)t =4
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